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Moments in column and middle strips

Positive/negative Moment in Width of [ Moment per 1 m
Panel| Cross-section moment M~§[]kNm] Strip ® column/middle |the strip s;| of the slab m,
' strip M; [KNm] [m] [KNm/m]
1 (left support) 179,76|no division 1,00 179,76 5,90 30,47
. Column 58,08 2,65 21,92
c, | ?2(midspan) 9,80 —idae | 0 38,72 3,25 11,91
, Column 134,82 2,65 50,88
3 (right support) 179.76—Viggie | ©7° 44.04 3.05 13,83
1 (left support) 313,20 quumn 0,75 234,90 2,95 79,63
Middle 78,30 2,95 26,54
. Column 101,20 2,95 34,30
C. ) 3 3
in 2 (midspan) 168,66 Viddle 0,60 67.46 2.95 22.87
. Column 234,90 2,95 79,63
3 (right support) 313,20 Middle 0,75 78.30 2.95 26.54
1 (left support) 119,11 quumn 0,99 117,44 2,95 39,81
Middle 1,67 4,05 0,41
. Column 119,10 2,95 40,37
3 3 3 3
o | 2(midspan) 198,90 —Vigqle | 060 79,40 4,05 19,60
. Column 208,44 2,95 70,66
3 (right support) 277,92 Middie 0,75 69.48 .05 17.16
1 (left support) 258,07 quumn 0,75 193,55 2,95 65,61
Middle 64,52 4,05 15,93
. Column 83,38 2,95 28,26
3. 3 3 3
n | 2 (midspan) 138,96 —Vigqle | 060 55,58 4,05 13,72
. Column 193,55 2,95 65,61
3 (right support) 258,07 Middle 0,75 64.52 .05 15.93
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